Exam 1; Finance 4360; Spring 2006; 9:00 Class





Name __________________________________

Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “used to bold a selection”?
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Because of problems at Xero Inc., a new management team was put into place at the firm at the end of 2002.  Assume you have calculated the firm’s Total Asset Turnover for 2005.  Of the types of comparisons discussed in the review sheet, which is most likely to reveal whether the new management is improving the firm?
2.  Set up the calculations needed to determine Microsoft’s return on assets for 2005 and 2004.
3.  Assuming Microsoft’s cost of capital is 11%, set up the calculations required to determine Microsoft’s Basic EVA for 2005.
4.  What is the fundamental reason that EVA provides a better measure of performance than accounting net income?

For questions 5 and 6, calculate (or write down if no calculations are required) the listed item assuming you are attempting to calculate Microsoft’s Harnischfeger EVA for 2005.
5.  Operating Cash
6.  Amortization of R&D
7.  List the steps that would allow you to solve the following problem.  Your first step should involve the first $100 deposit made today.  For each step, state what you are solving for.
You have just made the first of 5 quarterly deposits into a savings account.  Your first deposit was $100 and you plan for each additional deposit to be 1% larger than the pervious one.  Three years from today, you plan to make the first withdrawal from this account.  You would like to continue making withdrawals of the same amount forever.  How large can you make your annual withdrawals?
8.  Assuming you use the same interest rate for steps 1 and 2 in short-answer 7, what would you use for “t” or “n” in each of the steps?  Be sure to clearly identify which t or n goes with which step.
Draw your answers to SA 9 and SA 10 on the same graph.

9.  You currently own stock in Coca-Cola and the level of risk that you currently experience is optimal for you.  However, you are considering investing in Coca-Cola, Disney, and borrowing or lending at the risk-free rate in such a way that you achieve the exact same risk that you do when you invest only in Coca-Cola.  You estimate that Disney will offer a higher return but will also have a higher standard deviation of returns.  Show how much additional return you could achieve by investing in Coca-Cola, Disney and borrowing or lending rather than just Coca-Cola.  

10.  Demonstrate how your answer in SA 9 will change if you add Kellogg to your portfolio.  Show how your expected return will change if you want to leave your risk unchanged from SA 9.  Kellogg has an expected return and risk that is less than both Coca-Cola and Disney.
Problems/Essays

1.  You have just deposited $20,000 into a savings account that pays an interest rate of 3.2% per year compounded monthly.  You plan to make a series of semiannual withdrawals from the account with the first withdrawal coming four months from today and the final withdrawal coming five years and ten months from today.  You would like for each withdrawal to be 1.3% larger than the previous one.  How large will be your final withdrawal from the account?  (Note:  set up the sequence of equations and fill in as many numbers as possible).

2.  
a.  How does the standard deviation of returns on Oracle compare to that of the S&P500?

b.  If the return on T-bills is 4.2% and the expected return on the S&P500 over the next year is 9.5%, what is the beta and required return on Oracle given the following returns?  
(Note:  Set up the sequence of equations and fill in as many numbers as possible).


Return on:  
Year
Oracle
Sun
S&P500
2005
-11
4
4
2004
4
20
9

2003
22
-16
27

2002
-22
-13
-23

2001
-43
-15
-12

 Additional information for Microsoft
1)  Microsoft’s Research and Development spending (in millions) for years prior to 2003 were:  
2002 = 4307; 2001 = 4379; 2000 = 3772; 1999 = 2970; 1998 = 2601; 1997 = 1863
2)  From Note 1:   Inventories are stated at the lower of cost or market, using the average cost method. Cost includes materials, labor, and manufacturing overhead related to the purchase and production of inventories. We regularly review inventory quantities on hand, future purchase commitments with our suppliers, and the estimated utility of our inventory. If our review indicates a reduction in utility below carrying value, we reduce our inventory to a new cost basis.
3)  Interest income (in millions) by year:  2005 = 1460; 2004 = 1892; 2003 = 1957

4)  Cash taxes paid (in millions) by year:  2005 = 4464; 2004 = 4996; 2003 = 4669

5)  Microsoft has no debt or interest expense.

 

 

 ITEM 8.    FINANCIAL STATEMENTS AND SUPPLEMENTARY DATA

 

INCOME STATEMENTS

 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	(In millions, except per share amounts)
	  
	 
	  
	 
	  
	 

	 
	 
	 
	 

	Year Ended June 30
	  
	2003
	  
	2004
	  
	2005

	 
	 
	 
	 

	Revenue
	  
	$
	32,187
	  
	$
	36,835
	  
	$
	39,788

	Operating expenses:
	  
	 
	 
	  
	 
	 
	  
	 
	 

	Cost of revenue
	  
	 
	6,059
	  
	 
	6,716
	  
	 
	6,200

	Research and development
	  
	 
	6,595
	  
	 
	7,779
	  
	 
	6,184

	Sales and marketing
	  
	 
	7,562
	  
	 
	8,309
	  
	 
	8,677

	General and administrative
	  
	 
	2,426
	  
	 
	4,997
	  
	 
	4,166

	
	  
	
	
	  
	
	

	Total operating expenses
	  
	 
	22,642
	  
	 
	27,801
	  
	 
	25,227

	
	  
	
	
	  
	
	

	Operating income
	  
	 
	9,545
	  
	 
	9,034
	  
	 
	14,561

	Investment income and other
	  
	 
	1,509
	  
	 
	3,162
	  
	 
	2,067

	
	  
	
	
	  
	
	

	Income before income taxes
	  
	 
	11,054
	  
	 
	12,196
	  
	 
	16,628

	Provision for income taxes
	  
	 
	3,523
	  
	 
	4,028
	  
	 
	4,374

	
	  
	
	
	  
	
	

	Net income
	  
	$
	7,531
	  
	$
	8,168
	  
	$
	12,254

	 
	  
	
	
	  
	
	
	  
	
	

	 
	 
	 
	 

	Earnings per share:
	  
	 
	 
	  
	 
	 
	  
	 
	 

	Basic
	  
	$
	0.70
	  
	$
	0.76
	  
	$
	1.13

	 
	  
	
	
	  
	
	
	  
	
	

	Diluted
	  
	$
	0.69
	  
	$
	0.75
	  
	$
	1.12

	 
	  
	
	
	  
	
	
	  
	
	

	 
	 
	 
	 

	Weighted average shares outstanding:
	  
	 
	 
	  
	 
	 
	  
	 
	 

	Basic
	  
	 
	10,723
	  
	 
	10,803
	  
	 
	10,839

	Diluted
	  
	 
	10,882
	  
	 
	10,894
	  
	 
	10,906

	Cash dividends declared per share
	  
	$
	0.08
	  
	$
	0.16
	  
	$
	3.40


 

See accompanying notes.
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BALANCE SHEETS

 

	 
	 
	 
	 
	 
	 
	 
	 

	(In millions)
	  
	 
	  
	 
	 

	 
	 
	 

	June 30
	  
	2004
	  
	2005
	 

	 
	 
	 

	Assets
	  
	 
	 
	  
	 
	 
	 

	Current assets:
	  
	 
	 
	  
	 
	 
	 

	Cash and equivalents
	  
	$
	14,304
	  
	$
	4,851
	 

	Short-term investments
	  
	 
	46,288
	  
	 
	32,900
	 

	
	  
	
	
	

	Total cash and short-term investments
	  
	 
	60,592
	  
	 
	37,751
	 

	Accounts receivable, net
	  
	 
	5,890
	  
	 
	7,180
	 

	Inventories
	  
	 
	421
	  
	 
	491
	 

	Deferred income taxes
	  
	 
	2,097
	  
	 
	1,701
	 

	Other
	  
	 
	1,566
	  
	 
	1,614
	 

	
	  
	
	
	

	Total current assets
	  
	 
	70,566
	  
	 
	48,737
	 

	Property and equipment, net
	  
	 
	2,326
	  
	 
	2,346
	 

	Equity and other investments
	  
	 
	12,210
	  
	 
	11,004
	 

	Goodwill
	  
	 
	3,115
	  
	 
	3,309
	 

	Intangible assets, net
	  
	 
	569
	  
	 
	499
	 

	Deferred income taxes
	  
	 
	3,808
	  
	 
	3,621
	 

	Other long-term assets
	  
	 
	1,774
	  
	 
	1,299
	 

	
	  
	
	
	

	Total assets
	  
	$
	94,368
	  
	$
	70,815
	 

	 
	  
	
	
	  
	
	
	

	 
	 
	 

	Liabilities and stockholders’ equity
	  
	 
	 
	  
	 
	 
	 

	Current liabilities:
	  
	 
	 
	  
	 
	 
	 

	Accounts payable
	  
	$
	1,717
	  
	$
	2,086
	 

	Accrued compensation
	  
	 
	1,339
	  
	 
	1,662
	 

	Income taxes
	  
	 
	3,478
	  
	 
	2,020
	 

	Short-term unearned revenue
	  
	 
	6,514
	  
	 
	7,502
	 

	Other
	  
	 
	1,921
	  
	 
	3,607
	 

	
	  
	
	
	

	Total current liabilities
	  
	 
	14,969
	  
	 
	16,877
	 

	Long-term unearned revenue
	  
	 
	1,663
	  
	 
	1,665
	 

	Other long-term liabilities
	  
	 
	2,911
	  
	 
	4,158
	 

	Commitments and contingencies
	  
	 
	 
	  
	 
	 
	 

	Stockholders’ equity:
	  
	 
	 
	  
	 
	 
	 

	Common stock and paid-in capital – shares authorized 24,000;

outstanding 10,862 and 10,710
	  
	 
	56,396
	  
	 
	60,413
	 

	Retained earnings (deficit), including accumulated other comprehensive

income of $1,119 and $1,426
	  
	 
	18,429
	  
	 
	(12,298
	)

	
	  
	
	
	

	Total stockholders’ equity
	  
	 
	74,825
	  
	 
	48,115
	 

	
	  
	
	
	

	Total liabilities and stockholders’ equity
	  
	$
	94,368
	  
	$
	70,815
	 

	 
	  
	
	
	  
	
	
	


 

See accompanying notes.
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